"@© 2,708 (@) 635 - (75 + 132) @ 122 (@) 2773 = Gr 3 p.

+2,873 x 5
(:) 6 x 4 = 8 x
What is the temperature in degrees celsius?
DAY 150 '
95 + (20 - 9) $5.21 - 54 1829 =
@ @ ($2.47 + $.25) =® x 6 @ :
G) 16 - x = 7 Find x.
6 a ; TR, Where is the point
c — located?
b
) T o a
DAY 151
@ 759 @ $5.20 & 72 @ 54+6 =
+ 9 _ -2.94 X . '
(5Y 6 + 2 =2 x
6) List the even numbers between 201 and 216.
DAY 152 . :
@) $944.75 (@) 745 - (50 + 143) = @® 47 (@ 5627 -=
+585.41 ‘ x 4
Write +, -, x, or + for 8 x 2 x 5 = 40 2,
6) - 15 = 30
DAY 153
724 $6.71 -~ 162 637 =
@ 682 @ ($2.43 + $.47) @ x 2 @
+999 '
C) If Victor works 6 hours and earns $4 an hour,
how much does he earn?
C) what is the temperature in F 2
DAY 154
@ 7.98 @ 35.68 G) 135 @ 9J)36
3+51 -29.98 x 6
+2.75. - ® 1353
C)- what time is it when the long hand is on the 8
and the short hand is between the 3 and 42
DAY 155
18.53 48.67 256 . 8 )3
@ + 9.95 @ -31.29 @ x 7 @

7 )60 ;
What is the value of 4 in 12,3472
"DAY 156 -




